T T T e, o
{0 R e LR REER SRR EL %rf]':;am 91 ;
A AT ”e;' ——

i oty
10-2 E_ ----------------------------- :. I

107

10

1

Ratio

0.9

[---d-- 2 -p-immas-- ;,t ’

L 2 PSS
L o A.g L

r A4 0% o2

- D I H

—- . ..A..... .................
o 2 0%

0.8

-10 —8 6

-4 -2 0 2 4 6 8 10

| pull of qoverp parameter

res

107!

1072

107

Ratio

0.9x

— | & 0.0%7
. . . . . . ev
. . . . . . onstant 8
.................................. ons! -

- S

=10 —8 6

-4 -2 0 2 4 6 8 10

(= B B e 120

[pull o

f @parameter |

107}

1072

1073

Ratio

e”e:V 0.0
Bht 0
P gneian 00!
o -0.007854
3 0
: o
v -0.0004189
o ¥ §

foa A
coa s A0

oo S S
S nte meoge et AT 0% e e ke
o edagln

gt
K
g 0Lt
R R R R R EECE R Treereeeeieeeeieees
Eo: oo 2 thoe

08 =6 4 2 0 2 4 6 8 10

[ pull of dxy parameter

107}

1072

Ratio
=

res
tdaBev
onstant
E Gt

—.L086420246810

[pull o

f 0 parameter |

107}

1072

1073

08 =6 4 2 0 2 4 6 8 10

[pullo

f dz parameter

107}

1072

1

HM -2 ﬂ B'ﬂ'd"h

'—.L086420246810



	Contents
	Page 1


